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Subtraction (Horizontal) Name:
Solve each problem. Answers
1
1) 1,887 - 17 =
2.
2) 484 - 11 = 3
4,
3 632 - 626 =
5.
4 87 - 5 = 6.
7.
5 7,011 - 20 = g
9.
6) 8,579 - 2,824 =
10.
) 26 - 3 = 11.
12.
8 5,657 - 1,801 =
9 5,579 - 913 =
10) 964 - 8 =
11) 76 - 31 =
12) 637 - 32 =
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Subtraction (Horizontal) Name: Answer Key
Solve each problem. Answers
1 1,870
1) 1,887 - 17 = 1,870
5 473
2) 484 - 11 = 473 3, 6
4. 82
3 632 - 626 = 6
5 6,991
4 87 - 5 = 82 6. 5,755
7 23
5 7,011 - 20 = 6,991 8 3,856
9 4.666
6) 8,579 - 2,824 = 5,755
10. 956
7 26 - 3 = 23 11. 45
12 605
8 5657 - 1,801 = 3,856
9 5579 - 913 = 4,666
10) 964 - 8 = 956
1) 76 - 31 = 45
12) 637 - 32 = 605
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Subtraction (Horizontal) Name:
Solve each problem. Answers
3,856 1,870 6 5,755 82
6,991 4,666 23 956 473 1

2.

1) 1,887 - 17 =
3
4.

2) 484 - 11 =
5.

3 632 - 626 = 6.
7.

4 87 - 5 = 8.
9.

5 7,011 - 20 = 10.

6) 8,579 - 2,824 =

) 26 - 3 =

8 5,657 - 1,801 =

9 5,579 - 913 =

10) 964 - 8 =
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